## 14-C-00011; Channel District: East Madison Street Improvements Bid Opening: 1:30P.M., January 28, 2014

		Approx. Dallas 1 Corp			1 Corp	Southern Road & Bridge, LLC			actors, Inc	David Nelson Construction Co		Kamminga + R	Roodvoets, Inc	Ajax Paving Industries of Florida, LLC			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
The work in	cludes the furnishing of all labor, equipment, and n	naterial for	providing														
improvemer	nts to East Madison Street in the Channel District, i	including ro	oadway,														
	wastewater, and water main construction, signing																
	pecialty concrete and sawcut concrete walks, site f	•															
	and irrigation, underground electrical, with any all																
	Section 01020, and with all associated work require scordance with the Contract Documents and as foll		mpiete														
project in ac	cordance with the Contract Documents and as ion	iows.															
GENERAL	CONSTRUCTION ITEMS																
SP-3.02-1	Mobilization	LS	1	\$69,000.00	\$69,000.00	\$82,000.00	\$82,000.00	\$42,000.00	\$42,000.00	\$60,000.00	\$60,000.00	\$186,000.00	\$186,000.00	\$35,000.00	\$35,000.00	\$225,000.00	\$225,000.00
SP-3.01-1	Maintenance of Traffic	LS	1	\$30,000.00	\$30,000.00	\$75,000.00	\$75,000.00	\$22,776.00	\$22,776.00	\$65,000.00	\$65,000.00	\$60,000.00	\$60,000.00	\$40,000.00	\$40,000.00	\$15,000.00	\$15,000.00
	Implementation & Maintenance of Erosion																
SP-7.07-1	Control	LS	1	\$9,000.00	\$9,000.00	\$7,500.00	\$7,500.00	\$9,525.00	\$9,525.00	\$20,000.00	\$20,000.00		\$1,400.00	\$16,000.00	\$16,000.00	\$2,000.00	\$2,000.00
2208-1	Clearing and Grubbing	LS	1	\$1,500.00	\$1,500.00	\$22,000.00	\$22,000.00	\$36,750.00	\$36,750.00	\$25,000.00	\$25,000.00		\$75,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
				SUB TOTAL	\$109,500.00 *	SUB TOTAL	\$186,500.00	SUB TOTAL	\$111,051.00	SUB TOTAL	\$170,000.00	SUB TOTAL	\$322,400.00	SUB TOTAL	\$111,000.00	SUB TOTAL	\$262,000.00
DUVD/V	Y CONSTRUCTION ITEMS																
SP-4.02-1		SY	3,670	\$12.00	\$44.040.00	\$12.00	\$44.040.00	\$5.00	\$18.350.00	\$8.00	\$29,360.00	\$8.00	\$29.360.00	\$10.00	\$36.700.00	\$14.00	\$51.380.00
334-1	Type FC-9.5 Asphaltic Concrete	TN	167	\$210.00	\$35,070.00	\$195.00	\$32,565.00	\$175.00	\$29,225.00	\$214.00	\$35,738.00		\$22,211.00	\$179.00	\$29,893.00	\$171.00	\$28,557.00
334-2	SP-12.5 Asphaltic Concrete (Traffic B)	TN	240	\$180.00	\$43.200.00	\$195.00	\$46.800.00	\$165.00	\$39.600.00	\$184.00	\$44,160.00		\$40.800.00	\$139.00	\$33.360.00	\$168.00	\$40.320.00
334-2	Conc. Ped. Ramp (6") w/ Truncated	IIN	240	Ψ100.00	Ψ43,200.00	ψ195.00	Ψ40,000.00	ψ103.00	ψ59,000.00	ψ104.00	ψ44,100.00	ψ170.00	ψ40,000.00	ψ133.00	ψ33,300.00	\$100.00	ψ40,320.00
SP-8.04-1	Domes	EA	4	\$1,130.00	\$4,520.00	\$800.00	\$3,200.00	\$1.275.00	\$5.100.00	\$900.00	\$3,600.00	\$1.100.00	\$4,400.00	\$1,200.00	\$4,800.00	\$1,510.00	\$6.040.00
SP-8.05-1		LF	412	\$17.00	\$7,004.00	\$22.00	\$9,064.00	\$24.00	\$9,888.00	\$16.00	\$6,592.00	, ,	\$7,828.00	\$20.00	\$8,240.00	\$32.00	\$13,184.00
SP-8.05-2	( 3.	LF	550	\$17.00	\$9.350.00	\$22.00	\$12.100.00	\$22.00	\$12.100.00	\$14.75	\$8.112.50		\$10,450.00	\$20.00	\$11.000.00	\$28.00	\$15,400.00
SP-8.05-3	( 71  /	LF	674	\$15.00	\$10,110.00	\$22.00	\$14,828.00	\$24.00	\$16,176.00	\$14.50	\$9,773.00	,	\$11,458.00	\$18.00	\$12,132.00	\$30.00	\$20,220.00
SP-8.06-1	(	SY	102	\$50.00	\$5,100.00	\$58.00	\$5,916.00	\$75.00	\$7,650.00	\$40.00	\$4,080.00		\$5,610.00	\$60.00	\$6,120.00	\$88.00	\$8,976.00
01 -0.00-1	Base Group 9 (10" Crushed Conc.)(LBR-	01	102	ψου.σσ	ψο, του.σο	ψου.υυ	ψο,ο το.οο	ψ, σ.σσ	ψ1,000.00	ψ10.00	ψ1,000.00	ψου.σο	ψο,σ10.00	ψ00.00	ψ0,120.00	ψου.σο	Ψ0,010.00
SP-8.03-1	150)	SY	3,039	\$16.00	\$48,624.00	\$18.00	\$54,702.00	\$26.00	\$79,014.00	\$23.00	\$69.897.00	\$20.00	\$60.780.00	\$20.00	\$60.780.00	\$24.00	\$72.936.00
2208-2	Removal of Existing Pavement	SY	2,650	\$5.30	\$14,045.00	\$13.00	\$34,450.00	\$5.00	\$13,250.00	\$5.00	\$13,250.00	,	\$11,660.00	\$5.00	\$13,250.00	\$4.00	\$10,600.00
2208-3	Regular Excavation	CY	370	\$17.00	\$6,290.00	\$40.00	\$14,800.00	\$9.00	\$3,330.00	\$10.00	\$3,700.00		\$2,867.50	\$19.00	\$7,030.00	\$55.00	\$20,350.00
2208-4	Embankment	CY	186	\$22.00	\$4,092.00	\$20.00	\$3,720.00	\$20.00	\$3,720.00	\$2.00	\$372.00		\$1,729.80	\$30.00	\$5.580.00	\$67.00	\$12,462.00
2200-4	Remove and Replace Unsuitable Soils 2'-	01	100	Ψ22.00	ψ1,002.00	Ψ20.00	ψ0,1 <u>2</u> 0.30	\$20.00	ψο,7 20.00	Ψ2.00	ψ3, <u>2.00</u>	ψ5.00	ψ1,1 <u>2</u> 0.00	ψ33.00	ψο,σσσ.σσ	\$57.00	712,102.00
2208-5	3' B.E.G.	CY	3,036	\$27.00	\$81.972.00	\$26.50	\$80.454.00	\$20.00	\$60,720.00	\$52.00	\$157,872.00	\$35.00	\$106,260.00	\$48.00	\$145.728.00	\$60.00	\$182,160.00
327-1	Milling Existing Asphalt Pavement	SY	821	\$7.50	\$6.157.50	\$7.00	\$5.747.00	\$7.75	\$6.362.75	\$7.50	\$6.157.50	· ·	\$6.568.00	\$8.00	\$6.568.00	\$11.00	\$9.031.00
	J =	01		SUB TOTAL	\$319,574.50	SUB TOTAL	\$362,386.00	SUB TOTAL	\$304,485.75	SUB TOTAL	\$392,664.00	,	\$321,982.30	SUB TOTAL	\$381,181.00	SUB TOTAL	\$491,616.00
				JOD TOTAL	,	JUD TOTAL	, , 5 5 5 . 5 5	302 / O I / L	, ,	JUD TOTAL	, / 00 1.00	OOD TOTAL	, , , , ,	OOD TOTAL	,,	302 101/L	,,
	ATER CONSTRUCTION ITEMS																
	Removal of Unsuitable Soils	TN	2	\$200.00	\$400.00	\$1,500.00	\$3,000.00	\$1,575.00	\$3,150.00	\$100.00	\$200.00		\$58.30	\$200.00	\$400.00	\$59.00	\$118.00
SP-7.03-1	. , , , ,	LF	54	\$190.00	\$10,260.00	\$65.00	\$3,510.00	\$125.00	\$6,750.00	\$100.00	\$5,400.00	\$125.00	\$6,750.00	\$235.00	\$12,690.00	\$115.00	\$6,210.00
	Pipe Conc. Culv. (Class III)(30"x19"								***		<b>^</b>				***		
SP-7.03-2	,	LF	543	\$140.00	\$76,020.00	\$80.00	\$43,440.00	\$165.00	\$89,595.00	\$120.00	\$65,160.00	,	\$73,305.00	\$183.00	\$99,369.00	\$144.00	\$78,192.00
SP-7.03-3	. , , , ,	LF	8	\$260.00	\$2,080.00	\$100.00	\$800.00	\$147.00	\$1,176.00	\$145.00	\$1,160.00		\$2,000.00	\$181.00	\$1,448.00	\$153.00	\$1,224.00
SP-7.04-2	<b>3.</b>	EA	1	\$3,660.00	\$3,660.00	\$5,500.00	\$5,500.00	\$5,503.00	\$5,503.00	\$6,000.00	\$6,000.00		\$6,000.00	\$10,000.00	\$10,000.00	\$4,170.00	\$4,170.00
	FDOT Curb Inlet Type J-5 <10'	EA	3	\$4,160.00	\$12,480.00	\$6,500.00	\$19,500.00	\$6,304.00	\$18,912.00	\$7,000.00	\$21,000.00		\$19,500.00	\$8,900.00	\$26,700.00	\$4,060.00	\$12,180.00
	FDOT MH Type P-7, Partial	EA	1	\$4,180.00	\$4,180.00	\$3,850.00	\$3,850.00	\$2,750.00	\$2,750.00	\$3,000.00	\$3,000.00		\$2,500.00	\$5,200.00	\$5,200.00	\$3,030.00	\$3,030.00
SP-7.04-5	FDOT MH Type P-8, <10'	EA	1	\$3,720.00	\$3,720.00	\$4,950.00	\$4,950.00	\$4,975.00	\$4,975.00	\$5,000.00	\$5,000.00		\$4,500.00	\$6,900.00	\$6,900.00	\$3,520.00	\$3,520.00
				SUB TOTAL	\$112,800.00	SUB TOTAL	\$84,550.00	SUB TOTAL	\$132,811.00	SUB TOTAL	\$106,920.00	SUB TOTAL	\$114,613.30	SUB TOTAL	\$162,707.00	SUB TOTAL	\$108,644.00

## 14-C-00011; Channel District: East Madison Street Improvements Bid Opening: 1:30P.M., January 28, 2014

		Approx. Dallas 1 Corp			1 Corp	Southern Ro LI	ad & Bridge, _C	MTM Contractors, Inc		David Nelson Construction Co		Kamminga + R	oodvoets, Inc	Kimmins Cor	ntracting Corp	Ajax Paving Industries of Florida, LLC	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
SIGNING 8	PAVEMENT MARKINGS																
	Single Post Sign, F&I, <12sf	AS	14	\$300.00	\$4,200.00	\$250.00	\$3,500.00	\$375.00	\$5,250.00	\$250.00	\$3,500.00		\$3,430.00	\$300.00	\$4,200.00	\$309.00	\$4,326.00
		AS	1	\$55.00	\$55.00	\$120.00	\$120.00	\$250.00	\$250.00	\$125.00	\$125.00		\$110.00	\$139.00	\$139.00	\$55.00	\$55.00
700-20-60		AS	1	\$27.00	\$27.00	\$1.00	\$1.00	\$175.00	\$175.00	\$25.00	\$25.00		\$1.00	\$28.00	\$28.00	\$28.00	\$28.00
02580-1	Retro-Reflective Pavement Markers	EA	48	\$6.50	\$312.00	\$5.00	\$240.00	\$10.00	\$480.00	\$6.30	\$302.40	\$4.25	\$204.00	\$7.00	\$336.00	\$6.50	\$312.00
02580-2	Thermoplastic Solid Traffic Stripe 6" White Thermoplastic Solid Traffic Stripe 12"	LF	2,048	\$1.50	\$3,072.00	\$2.00	\$4,096.00	\$1.25	\$2,560.00	\$1.25	\$2,560.00	\$1.35	\$2,764.80	\$1.40	\$2,867.20	\$1.70	\$3,481.60
02580-3	White	LF	236	\$3.50	\$826.00	\$5.00	\$1,180.00	\$3.25	\$767.00	\$4.40	\$1,038.40	\$3.30	\$778.80	\$4.75	\$1,121.00	\$3.00	\$708.00
02580-4	Thermoplastic Solid Traffic Stripe 24" White	LF	182	\$6.50	\$1,183.00	\$7.00	\$1,274.00	\$7.75	\$1,410.50	\$6.25	\$1,137.50	\$6.40	\$1,164.80	\$7.00	\$1,274.00	\$7.00	\$1,274.00
02580-5	Thermoplastic Solid Traffic Stripe 6" Yellow	LF	1,900	\$1.50	\$2,850.00	\$2.00	\$3,800.00	\$1.25	\$2,375.00	\$1.25	\$2,375.00		\$2,565.00	\$1.40	\$2,660.00	\$1.70	\$3,230.00
				SUB TOTAL	\$12,525.00	SUB TOTAL	\$14,211.00	SUB TOTAL	\$13,267.50	SUB TOTAL	\$11,063.30	SUB TOTAL	\$11,018.40	SUB TOTAL	\$12,625.20	SUB TOTAL	\$13,414.60
WATER MAIN CONSTRUCTION																	
C2.02-1	Water Main Pipe Removal (F&I) (8" DI)	LF	15	\$14.00	\$210.00	\$100.00	\$1,500.00	\$10.00	\$150.00	\$5.00	\$75.00	\$4.00	\$60.00	\$75.00	\$1,125.00	\$38.00	\$570.00
C2.02-2	Water Main Pipe Removal (F&I) (12" DI)	LF	198	\$11.00	\$2,178.00	\$30.00	\$5,940.00	\$15.00	\$2,970.00	\$5.00	\$990.00		\$792.00	\$46.00	\$9,108.00	\$25.00	\$4,950.00
C2.04-1	Watermain pipe (F&I) (6" DI)	LF	10	\$43.00	\$430.00	\$32.00	\$320.00	\$65.00	\$650.00	\$48.00	\$480.00		\$1,500.00	\$43.00	\$430.00	\$129.00	\$1,290.00
C2.04-2	Watermain pipe (F&I) (8" DI)	LF	17	\$270.00	\$4,590.00	\$60.00	\$1,020.00	\$85.00	\$1,445.00	\$60.00	\$1,020.00		\$4,250.00	\$170.00	\$2,890.00	\$116.00	\$1,972.00
C2.04-3	Watermain pipe (F&I) (12" DI)	LF	210	\$82.00	\$17,220.00	\$60.00	\$12,600.00	\$95.00	\$19,950.00	\$75.00	\$15,750.00	\$115.00	\$24,150.00	\$107.00	\$22,470.00	\$119.00	\$24,990.00
C2.05-1	Fitting, (Bends, Sleeves, Reduc) (F&I)(DI) (6")	EA	1	\$120.00	\$120.00	\$75.00	\$75.00	\$275.00	\$275.00	\$150.00	\$150.00	\$175.00	\$175.00	\$189.00	\$189.00	\$236.00	\$236.00
C2.05-2	Fitting, (Bends, Sleeves,Reduc) (F&I)(DI) (8")	EA	4	\$280.00	\$1,120.00	\$120.00	\$480.00	\$360.00	\$1,440.00	\$250.00	\$1,000.00	\$180.00	\$720.00	\$250.00	\$1,000.00	\$253.00	\$1,012.00
C2.05-3	Fitting, (Bends, Sleeves, Reduc) (F&I)(DI)(12")	EA	12	\$490.00	\$5,880.00	\$300.00	\$3,600.00	\$588.00	\$7,056.00	\$350.00	\$4,200.00		\$4,200.00	\$695.00	\$8,340.00	\$452.00	\$5,424.00
C2.07-1	Fire Hyd (Standard)(Relocation)	EA	2	\$1,040.00	\$2,080.00	\$125.00	\$250.00	\$1,575.00	\$3,150.00	\$2,300.00	\$4,600.00	\$2,100.00	\$4,200.00	\$2,500.00	\$5,000.00	\$6,080.00	\$12,160.00
C2.09-1	Mech Joint Restr., Wedge-action, 6 in. (F&I)	LF	10	\$5.00	\$50.00	\$60.00	\$600.00	\$27.00	\$270.00	\$27.00	\$270.00	\$25.00	\$250.00	\$6.00	\$60.00	\$123.00	\$1,230.00
C2.09-2	Mech Joint Restr., Wedge-action, 8 in. (F&I)	LF	24	\$54.00	\$1,296.00	\$35.00	\$840.00	\$20.00	\$480.00	\$45.00	\$1,080.00	\$30.00	\$720.00	\$54.00	\$1,296.00	\$111.00	\$2,664.00
C2.09-3	Mech Joint Restr., Wedge-action, 12 in. (F&I)	LF	310	\$29.00	\$8,990.00	\$10.00	\$3,100.00	\$21.00	\$6,510.00	\$33.00	\$10,230.00	\$20.00	\$6,200.00	\$23.00	\$7,130.00	\$223.00	\$69,130.00
C2.10-1	Water Service Connection, 2" (Irrigation)	EA	1	\$4,370.00	\$4,370.00	\$2,500.00	\$2,500.00	\$3,275.00	\$3,275.00	\$3,600.00	\$3,600.00	· ·	\$3,500.00	\$5,500.00	\$5,500.00	\$2,300.00	\$2,300.00
C2.11-1	Polyethylene Wrap, 6", D.I. (F&I)	LF	10	\$0.75	\$7.50	\$60.00	\$600.00	\$5.25	\$52.50	\$1.00	\$10.00		\$7.00	\$29.00	\$290.00	\$1.00	\$10.00
C2.11-2	Polyethylene Wrap, 8", D.I. (F&I)	LF	24	\$0.75	\$18.00	\$12.00	\$288.00	\$5.25	\$126.00	\$1.00	\$24.00		\$16.80	\$12.00	\$288.00	\$1.00	\$24.00
C2.11-3	Polyethylene Wrap, 12", D.I. (F&I)	LF	310	\$0.75	\$232.50 \$48,792.00	\$5.00 SUB TOTAL	\$1,550.00 \$35,263.00	\$2.75	\$852.50 \$48,652.00	\$5.00 SUB TOTAL	\$1,550.00 \$45,029.00		\$217.00 \$50,957.80	\$1.89 SUB TOTAL	\$585.90 \$65,701.90	\$1.00 SUB TOTAL	\$310.00 \$128,272.00
				SUB TOTAL	\$48,792.00	20R IOIYE	\$30,203.00	SUB TOTAL	<b>Φ4</b> 8,032.00	20R LOTAL	\$45,029.00	SUB TOTAL	\$30,437.80	20R IOTAL	\$00,701.90	20R IOIYE	\$128,212.0U

## 14-C-00011; Channel District: East Madison Street Improvements Bid Opening: 1:30P.M., January 28, 2014

		Approx. Dallas 1 Corp		Southern Road & Bridge, LLC		MTM Contractors, Inc		David Nelson Construction Co		Kamminga + R	coodvoets, Inc	Kimmins Con	ntracting Corp	Ajax Paving Industries of Florida, LLC			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
WASTEW	/ATER CONSTRUCTION																
4900-1	Connection to Existing Manhole	EA	1	\$2,600.00	\$2,600.00	\$1,500.00	\$1,500.00	\$2,275.00	\$2,275.00	\$750.00	\$750.00		\$3,500.00	\$1,000.00	\$1,000.00	\$2,220.00	\$2,220.00
5000-1	6"-8" Wastewater Pipe Removal	LF	400	\$35.00	\$14,000.00	\$5.00	\$2,000.00	\$10.00	\$4,000.00	\$24.00	\$9,600.00		\$10,000.00	\$23.00	\$9,200.00	\$25.00	\$10,000.00
5000-2	Sanitary Sewer Manhole Removal	EA	1	\$1,220.00	\$1,220.00	\$1,850.00	\$1,850.00	\$750.00	\$750.00	\$800.00	\$800.00	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$846.00	\$846.00
	Wastewater Pipe (F&I) (6" PVC) Depth <																
0700-1	5'	LF	117	\$33.00	\$3,861.00	\$15.00	\$1,755.00	\$95.00	\$11,115.00	\$85.00	\$9,945.00	\$65.00	\$7,605.00	\$95.00	\$11,115.00	\$82.00	\$9,594.00
	Wastewater Pipe (F&I) (6" PVC) Depth 5'																
0700-2	to10'	LF	118	\$53.00	\$6,254.00	\$25.00	\$2,950.00	\$125.00	\$14,750.00	\$100.00	\$11,800.00	,	\$8,260.00	\$99.00	\$11,682.00	\$95.00	\$11,210.00
				SUB TOTAL	\$27,935.00	SUB TOTAL	\$10,055.00	SUB TOTAL	\$32,890.00	SUB TOTAL	\$32,895.00	SUB TOTAL	\$31,365.00	SUB TOTAL	\$35,197.00	SUB TOTAL	\$33,870.00
HARDSCA	APE SURFACES																
02511-1	Colored Shell Aggregate Concrete	SF	6,100	\$10.00	\$61,000.00	\$10.00	\$61,000.00	\$17.20	\$104,920.00	\$9.00	\$54,900.00		\$61,000.00	\$17.00	\$103,700.00	\$19.00	\$115,900.00
02510-1	Saw Cut Concrete	SY	560	\$73.00	\$40,880.00	\$60.00	\$33,600.00	\$122.00	\$68,320.00	\$60.00	\$33,600.00	\$77.00	\$43,120.00	\$108.00	\$60,480.00	\$135.00	\$75,600.00
02775-1	6" Thick Concrete Sidewalk	SY	61	\$47.00	\$2,867.00	\$42.00	\$2,562.00	\$75.00	\$4,575.00	\$50.00	\$3,050.00	\$60.00	\$3,660.00	\$58.00	\$3,538.00	\$73.00	\$4,453.00
	Paver Replacement Along Meridian																
02780	Avenue	SY	184	\$43.00	\$7,912.00	\$32.00	\$5,888.00	\$62.00	\$11,408.00	\$70.00	\$12,880.00	\$42.00	\$7,728.00	\$56.00	\$10,304.00	\$16.00	\$2,944.00
				SUB TOTAL	\$112,659.00	SUB TOTAL	\$103,050.00	SUB TOTAL	\$189,223.00	SUB TOTAL	\$104,430.00	SUB TOTAL	\$115,508.00	SUB TOTAL	\$178,022.00	SUB TOTAL	\$198,897.00
PLANT MA	ATERIAL & IRRIGATION																
02900-1	Bald Cypress	EA	2	\$300.00	\$600.00	\$350.00	\$700.00	\$371.00	\$742.00	\$360.00	\$720.00	,	\$573.00	\$395.00	\$790.00	\$316.00	\$632.00
02900-2	Sky Climber Live Oak	EA	10	\$550.00	\$5,500.00	\$625.00	\$6,250.00	\$631.00	\$6,310.00	\$610.00	\$6,100.00		\$4,865.00	\$680.00	\$6,800.00	\$537.00	\$5,370.00
02900-3	Washington Palm	EA	2	\$700.00	\$1,400.00	\$950.00	\$1,900.00	\$847.00	\$1,694.00	\$820.00	\$1,640.00		\$1,303.00	\$900.00	\$1,800.00	\$719.00	\$1,438.00
02900-4	Indian Hawthorne	EA	91	\$6.00	\$546.00	\$12.00	\$1,092.00	\$6.25	\$568.75	\$6.00	\$546.00		\$432.25	\$6.50	\$591.50	\$5.00	\$455.00
02900-5	Variegated Flax Lily	EA	58	\$5.00	\$290.00	\$12.00	\$696.00	\$6.25	\$362.50	\$6.00	\$348.00	, ,	\$275.50	\$6.50	\$377.00	\$5.00	\$290.00
02900-6	Dwarf Asian Jasmine	EA	461	\$3.00	\$1,383.00	\$10.00	\$4,610.00	\$2.86	\$1,318.46	\$2.75	\$1,267.75		\$1,014.20	\$3.00	\$1,383.00	\$2.00	\$922.00
02900-7	Mulch	CY	16	\$70.00	\$1,120.00	\$150.00	\$2,400.00	\$84.50	\$1,352.00	\$81.00	\$1,296.00		\$1,040.00	\$90.00	\$1,440.00	\$71.00	\$1,136.00
02900-8	Planting Soil	CY	32	\$35.00	\$1,120.00	\$45.00	\$1,440.00	\$42.25	\$1,352.00	\$41.00	\$1,312.00		\$1,040.00	\$45.00	\$1,440.00	\$36.00	\$1,152.00
02910-1	Structural Soil	CY	246	\$55.00	\$13,530.00	\$100.00	\$24,600.00	\$117.00	\$28,782.00	\$150.00	\$36,900.00		\$22,140.00	\$125.00	\$30,750.00	\$68.00	\$16,728.00
02440-1	Irrigation system	LS	1	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00	\$13,630.50	\$13,630.50	\$25,000.00	\$25,000.00		\$10,485.00	\$14,000.00	\$14,000.00	\$11,000.00	\$11,000.00
				SUB TOTAL	\$37,489.00	SUB TOTAL	\$58,688.00	SUB TOTAL	\$56,112.21	SUB TOTAL	\$75,129.75	SUB TOTAL	\$43,167.95	SUB TOTAL	\$59,371.50	SUB TOTAL	\$39,123.00
SITE FUR																	
	-1 Bench, Landscape Forms	EA	3	\$2,500.00	\$7,500.00	\$3,000.00	\$9,000.00	\$3,324.00	\$9,972.00	\$3,300.00	\$9,900.00		\$7,500.00	\$3,500.00	\$10,500.00	\$2,380.00	\$7,140.00
	-2 Trash Receptacle, Landscape Forms	EA	5	\$1,700.00	\$8,500.00	\$1,750.00	\$8,750.00	\$1,859.00	\$9,295.00	\$2,200.00	\$11,000.00		\$8,750.00	\$2,400.00	\$12,000.00	\$2,850.00	\$14,250.00
	-3 Pooch Station, Pet Pickups	EA	4	\$900.00	\$3,600.00	\$395.00	\$1,580.00	\$1,015.00	\$4,060.00	\$1,100.00	\$4,400.00		\$2,000.00	\$1,200.00	\$4,800.00	\$998.00	\$3,992.00
SP-12.01-	-4 Bike Rack - Landscape Forms	EA	4	\$650.00	\$2,600.00	\$525.00	\$2,100.00	\$1,211.00	\$4,844.00	\$800.00	\$3,200.00		\$1,600.00	\$720.00	\$2,880.00	\$697.00	\$2,788.00
				SUB TOTAL	\$22,200.00	SUB TOTAL	\$21,430.00	SUB TOTAL	\$28,171.00	SUB TOTAL	\$28,500.00	SUB TOTAL	\$19,850.00	SUB TOTAL	\$30,180.00	SUB TOTAL	\$28,170.00

## 14-C-00011; Channel District: East Madison Street Improvements Bid Opening: 1:30P.M., January 28, 2014

	Did oponnig: 11001 imi, outland y 20, 2017																
		Approx. Dallas 1 Corp			Southern Road & Bridge, LLC		MTM Contractors, Inc David Nelson			Construction	Kamminga + F	Roodvoets, Inc	Kimmins Con	tracting Corp	, ,	Industries of la, LLC	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
UNDERGRO	OUND ELECTRIC & LIGHTING																
	2" Conduit, Lighting, Install Underground	LF	1,500	\$5.50	\$8,250.00	\$8.00	\$12,000.00	\$11.50	\$17,250.00	\$11.00	\$16,500.00	\$7.70	\$11,550.00	\$12.00	\$18,000.00	\$11.00	\$16,500.00
SP-5.04-2	4" Conduit, Lighting, Install Underground	LF	5,590	\$6.50	\$36,335.00	\$6.80	\$38,012.00	\$13.50	\$75,465.00	\$11.00	\$61,490.00	\$7.70	\$43,043.00	\$13.00	\$72,670.00	\$19.00	\$106,210.00
	6" Conduit, Lighting, Install Underground	LF	4,370	\$9.40	\$41,078.00	\$7.00	\$30,590.00	\$15.50	\$67,735.00	\$11.00		\$7.60	\$33,212.00	\$14.00	\$61,180.00	\$21.00	
SP-5.04-4	Electrical Manhole (Install Only)	EA	3	\$9,000.00		\$2,400.00	\$7,200.00	\$3,997.00	\$11,991.00	\$5,000.00	\$15,000.00	\$2,667.00	\$8,001.00	\$4,500.00	\$13,500.00	\$3,530.00	
				SUB TOTAL	\$112,663.00	SUB TOTAL	\$87,802.00	SUB TOTAL	\$172,441.00		\$141,060.00	SUB TOTAL	\$95,806.00	SUB TOTAL	\$165,350.00	SUB TOTAL	\$225,070.00
				SUB TOTAL OF ABOVE SUB TOTALS	\$916,137.50		\$963,935.00	SUB TOTAL OF ABOVE SUB TOTALS	\$1,089,104.46	SUB TOTAL OF ABOVE SUB TOTALS	\$1,107,691.05	SUB TOTAL OF ABOVE SUB TOTALS	\$1,126,668.75	SUB TOTAL OF ABOVE SUB TOTALS	\$1,201,335.60	SUB TOTAL OF ABOVE SUB TOTALS	\$1,529,076.60
				ALLOWANCE (REFERENCE	\$130,000.00		\$130,000.00	ALLOWANCE (REFERENCE	\$130,000.00	ALLOWANCE (REFERENCE	\$130,000.00	ALLOWANCE (REFERENCE	\$130,000.00	ALLOWANCE (REFERENCE	\$130,000.00	ALLOWANCE (REFERENCE	\$130,000.00
				TOTAL BID	\$1,046,137.50 *		\$1,093,935.00	SECTION 01020) TOTAL BID	\$1,219,104.46	SECTION 01020	\$1,237,691.05	TOTAL BID	\$1,256,668.75	TOTAL BID	\$1,331,335.60	TOTAL BID	\$1,659,076.60
4) All Permit a the FDOT rigi 5) Complete I Utility Compa 6) Undergrou 7) All utility ar	staking, cetified as-built survey, etc. and Impact fees associated with City issued perr int-of-way will be obtained and paid for by the Co road demolition and reconstruction within the pro any. unding of overhead electrical is based on design nd storm sewer system trenches select backfill m al information, approximate quantity of 235 LF ap																
*Arithmetic	correction by Contract Administration													1			
	t to Award: Unless subsequently indicated otherwise, in isted in this tabulation. A bidder aggrieved by this deci-																
posting hereof,	, pursuant to City of Tampa Code Chapter 2, Article V, not be reviewed.						Bid	Is Received By:	Jim Grei	ner							
		Jim Greiner, P.E.															
			City of Tampa - Contract Adminis									t					
									306 E. Jackson								
		Tampa, FL 33602															